Cpeiten dasog o Ay

C Awiwyl

1w
LS Cuils 13] ¢ (0.2 8) 3ud( 3 M/S) L2 )luie is pait bl | gornd I yoris @iz ( 50 N) L yludin 598 i il

: @lonilg [yludin dilgad| ais yous OB 4dS 3o ool pandaie 59| ey ot ilg (1K) (S glustss eunssind|

Sl g5 13 m/s @ ol s 13 m/s @
Sl g2 7 m/s G omdl o 7m/s &

2
Ml Bl 3l ¢ (3 M/S) I ds yust s 93 asd <y yal(+ X) 9o o yondy (2 Q) wililS sz

: S gkay st | e 59l dud iyl

6N.s @ 3N.s @
-6N.s @ -3Ns @

3w
Ayl b pdlly ¢ (Y3908 oAt ) @531 b LT e Al Sy S eianad| dand] s
: 0 g il ( X)90we Sls)

ka @ N.s @
m/s @ kg.m/s &
4 v
2F . . .
ZF1 =1 Ol ke 13/ ¢ Ll @i | RS S glinssi Jo 3| @uasiand | ALES 9 Gl (2) 9 (1) Hhomssr
2

Sl ¢ I @usandl B (F, ) 39all nili () (0 ST Jg¥I masand! G (SF, ) 598 adli () Of 9 ¢
§ eowa Al ol ylasud|
Vf1 < vf2 ‘ Vf1 > Vf2

il S ¥ @) V. =V,

® (udodano Sl o



Createg daseg @ Ay

1w
ZF.At=m(Vf—Vi) —>-50><0.2=1><(Vf—3)
- 10=Vf+3—>Vf=-13m/s
2 U
I=AP=mAV=2%X-3=-6N.s
3w
_AP _ mAv _ A<
Hev = ™ &
v, 4 4o
>F, _ m (V_-0)/At, _ At, .1
XF, m,V -0/At, Ve
At,
Vf1 A‘t2 f1 AtZ

At, .
( At <1) 93 (At<At)

1

a2y o ST )ladie i a2l (0 ydual jlade o 1 dtud




